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PART A: Grammar and Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (d4) that best compleies
each sentence. Then mark the correct choice on your answer sheet.

Befure T read this book, I ~cemmeemee. . dreams were of s0 much signiﬁcancé.
lydon’tthink  2) haven't thought 3 didn’t think 4} wouldr’t thought

------------- you have lost your job becaunse of a factory closure, can you understand how
devastating it is?

L) Asif 2) Now that 3YEven if 4) As though
July 23 is the last date -sevesamees you may transfer to another conrse.
1} why 2) ar when 3} what 41 on which

----------- Manchester United soccer team will be promoted depends on the last match of
the season.

i) Who 2} Which 3) Where 4y Whether

The police were investigating who -eer--- the gate to the factory open the night before
the robhery. '

B) was left 2% had left 3) has left 4y will be lelt

Our only ----—-----— s 10 reduce debt by cutting costs.

1} variance 23 starvation 1) chjective 4) preface

She decided to walk out of the shop without buying anything as the twe shop assistants
Jjust talked ang ------«——- her completely.

Ly ignored 2) approved 3 relieved 4} distinguished

The stranger said to the villagers that he was a carpenter from New York, but after he
was arrested, i€ turned out that he had —----meameee ihe whole story,

L) overtaken 2) Fabricated 3} instructed 4} demonstrated

Although the bank robber’s career kasted only a little more than a year, he became ----——-
nationwide for being the country’s most wanted criminal.

iyacclaimed 2} sccused 3} nolorious 4} indispensable

Alter being left at an orphanage, she was sent to Beijing, where she was --cceceamnas by a
Chinese couple,

L}y adopted 2) evolved 3) tlourished 4} neminated
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PART B: Reading Comprehension

Directions: Read the following passages and answer the gquestions by choosing
the best choice (1), {2), (3), or (4).Then mark the correct choice on your
answer sheet.

PASSAGE 1:

According to the United Nauons sources, world population in mid-2009 was, 6,290
million, an increase of 90 million in one year. Mare than half of the wtal live 11 Asia (36,9 per
cent}. Ditferent countries are at different stages in a demographic transition from the stability
provided by a combination of high birth rae and high death rate io that provided by a
combination of tow birth tate and low death rate. Their recent population histery and current
trend of growth, the age-structure of their population, and consequently their population
potential for the near fulure are alt widely ditferent. Most rapid growth is in Africa with rates
of over 3 per ¢ent in some countries. In most European countries the rate is less than 1 per
cent.

51- Tt is pointed out in the passage that, of the contintents of the world, it i§ ------------- .
1} Asia that accommodates the largest proportion of the world’s population
2} Asia where population stability has been achieved most recently
3} Africa where the populalion growth has stabilized over recent decades
4) Eurape that hopes to see an increase in its population
52-  According o the passage, the demographic trend observed in various countries ---------» .
1) is tewards a stability with low birth and low death rates
2) involves high birth and low death rutes _
3y is poiating to a continued state of population instability
4y will be reversed in the near future
33. The author points out that there is little uniformity -—-------- :
1) in the ¢orrent pattern of the demographic transition of the various countries of the world
2) of populatienr growth among African countries
3) in the way birih rales are being controlled among rural and urban populations
4% as regards population figures in Burope
54- The word “transition™ in line 3 is closest in meaning to -----==-cee-- :

17 conoruence  2) passage 3} increase 4) census
55- 'Fhe word “that” in line 4 refecs (0 ---=sreoeee- i

13 combination  2) birth rate 3) death rate 4] stabildity
PASSAGE 2:

People have been donating blood since the early twentieth century o help accident victims
and patients undergoing surgical procedures. Usually a pint of whole blood is denated, and it
is then divided into platelets, white blood cells, and red blood cells. People can dorate blood
(for red bload cells} about once every two manths.

Transfusing the blood from the donor to the recipient is straightforward. Tt involves taking
the blaod from a dono’s arm vein by means of a hypodermic syringe. The blood flows
through a plastic tube to a collection bag or bottle that contains sodium citrate, which prevents
the blood from clotting.

When the bleod is given 1o a paiient, a plastic tube and hypodermic needle are connected to
the recipient’s wm. The blood flows down frum the container by gravity. This is a slow
process and may last as long as 2 hours to complete the infusion of blood into the recipent.

forum.konkur.in



www.konkur.in

¥ oo (BOTD) (ngas 3051 — smelfil 1

The patient is protected from being infected during the transfusion, Only sterile containers,
tubing, and needles are used, and this helps ensure that transfused or stored blood is not
expesed to disease causing bacteria.

Negative reactions to transfusions are not unusual. The recipient may suffer an allergic
reaction or be sensitive to donor leukecytes. Some may suffer from an undetected red-cell '
incompatibility. Unexplained reactions are also fairly comman, Although they are rare, other
causes of such negative rcactions include contaminated blood, air bubbles in the blood,
overloading of the circulatory system through administration of excess blood., or sensitivily to
donor plusma or platelets.

Today, hospitals and blood banks go to great lengths to screen all blood donors and their
blood. All donated blood is routinely und rigorously tested for diseases, such as HIV (which
causes AIDS), hepatitis B, and syphilis. When the recipient is a newbom or an infant, the
bleod s wsually irradiated o eliminate harmful elements. Donated blood ts washed, and the
white blood cells and platelets removed. Storing the binod sometimes requires a freezing
process. To freee the red blood cells, a giycerol solution 1s added. To untreeze, the glycerolis
removed. The ability to store bloed for long periods has been o boon to human health.

Which of the following words is closest in meaning to the word “donating” (line 1)?
1) Distributing 2} Faking 3} Adoming 4y Giving

According to the passage, how often can people donate bload for red blood cells?
1y Every two months 2) Every three months  3) Every four months  4) Bvery month

All of the following are mentioned as potential negative reactions to transfusions
EXCEPT --———-emee .

I} sensitivity to donor leukecytes 2} red-cell incompatibility

3} alr bubbles in the blood 4} allergies

What answer choice is clasest in meaning to the word “wndetected” {line 16)?

1) Not illustrated 2) Not wanted 3) Not captured 4) Not found

Based on the informution in the passage, what can be inferred about blood transfused to
infants and newborns?

1) 1t s as rigorously tested as blood for adults.  2) Itis treated with radiant cnergy.

3y It is not treated differently from adults. 2} Tt is nat dangerous for children.
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Reading Comprehension:

Directions: Read the following passages and choose the best choice (1), (2), (3), or
{4). Then mark it on your answer sheet,

Passage [

Computers are designed (0 solve automaticaily problems that have been properly
formulated. The most important prerequisite in using a computer is thal the probiems or
work to be processed be clearly organized and well defined. A procedure for problem
salving or data processing must always be stipulated.

Data to be processed and instructions for processing it are presented to the computer
through irs input devices, which convert the language of the instructions into electrical
signals. The computer memory raceives these signals from the input section. The control
section activates the portions of the storage memory that contain instructions or duta
pertinent (o the cument problems. It then contrels the flow of data and instructions berween.
the memary and the arithmetic-and-logic section by opening and closing the proper
electronic gates, The actions of the control center are puided at every step by the detailed
programs thal are stored in the memory banks and that e activated step by siep by the
control center. When the computer has processed a problem. the signals representing the
solution are channeled ta the output scction, where they usually are printed in readable form
or are recorded on magnetic lape. Any other information in the computer can also be printed
if the operator or the programmed instructions orcler it. For example, the computer may be
ordered to priet a record of the steps it has followed 1n solving the problem if an error in the
procedure is suspected.

To ensure the high accuracy required of computing machines, built-in and programmed
methods of checking are placed in the input and output devices as well as in the processing
unit. The codes used within the machine also contain seif-checking elements; and duplicate
circuits, recalculations, and other self-checking techniques are standard practices.

The passage fs mainly about -------
1) how compulters are designed 2) input and output devices
3) how to use as compuier 4} the operation of computers

According to the passage, what is the most important step in using a computer?
1) Presenting instructions for data processing to the computer

23 Defining and organizing problems

3y Changing the language of instructions into elecirical signals

4) Processing problems

The word “it"” in line 9 refers tp -—------- .

1) storage memory 2) probiem 3) control section 4y daia
According to the passage, the accuracy of computers is achieved by --a-e---- .

1) changing the scif-checking (cehnigues within the computes
2j using electrical signals as the ianguage of instructions

3) placing self-checking elements within the computers

4) programining wput and output sections
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80- Which of the following statements is NOT true according to the passage”?
1} Alter processing a problems, the computer sends information aboul the solution to the output
seciion.
2} Ne information about the procedure for solving problems is available within the compuier.
3} Electrenic signals representing the problems wic sent o the memory by the inpuf section.
4) Information abaout problems is siered in memory banks.

Passage I1:

Computers were developed in the late 194075, and since then they have had more impact
on civilization than any invention since the development of the internal-combustion engine.
Almost every modern activity involves the use of 2 computer, and i1 is certain that the usc of
computers will become even more widespread, particularly in the fields of information
processing such as education and medicine. '

Computers-—cspecially digital computers—have had their most profound influence on ‘
science, business, aud industry. Scientific and mathematical research have been vastiy
accelerated by the use of compoters; in business. management practices have been i
revelutionized by computer methods: and ir industry, computers ptay the vilal role of '
control in zutomaticn. Aside from computations made possible by modem digital compulers,
computers have proved matchless as repositories and correlators of the massive amounts of
data generated by a increasing economy and a more complex SOCIely.

The oumber of digital computers in woridwide use increased from less than 15 in 1950 to
over 40,000 in the late 1960°s with over 1{),000 predicted for the 1970's, Tegether with an
increase in numbers has come an increase in be speed capabiitlites of individual computes.

Computers of the late 1960°s operated at internal speeds about 20 to 100 times the speeds of
their counterparts of 10 years earlier. In addition, the storage capabilities increased ei ghtfald,
vet cccupied half the former velume.

81- What does the passage mainly discass?

) The uses of computers in science 2) How camputers operate
3) Inventions in the 20" centary 4) The development of computers
82- According 1o the passage, the storage capabilities of computers --emeeee- ;

1} limit the iernal speeds of individual computers

2) have not increased during the past 10 years

3) fill the whole amount of space in a computer .

4} are eight times greater than before -
83- Which of the following statements is NOT true about computers?

1) Large amounts of data can be stered in modern computers.

2) They have increased in number and in speed capabilities,

3) The widespread use of computers has caused problems for businesses.

4) They have greatly influenced human life,

84- The word “profonnd” in line 6 can best be replaced by -,
1) streng 2} special 33 fast 4 direct
85- What is the writer’s attitnde toward computers?
1} Positive ) Ridiculous . 33 Suhjectlive 4) Untavorable
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yoid main)

{

for(int n=0,s=0;n<=5;n+=2,5+= n)

coul<<<s;

}

foal pAT oorg s gy 9 (gatolipy )0
40 &

246 (v

226 (v

024 (%

Yool plaf g 3 g 3 g Faradad®s casly 510y, 4 5 g4t s

void maini)
{
int ¢1=0,c2=0c3=0,c4=0;
char ¢;
while{(¢=cin.get())!=EOF)
{ switch{telower(c)) -
{ ease 'Fi-+el;

case 'a"++c2;

case "'r’:++e3;

case "d:++eds } )
cout<<el << <<eI<<ed;

}

vaid main()

{

int c=0;

cout<<e=0<<' <=0,

}

void main()

{

enum flower {viglet=1linda,mina):
fower T
violei=4; i |
linda=2; 2
=3; /3
cout<<t==mina; //4
cout=<violet; //5

void main{)

{

register a;

int h; static ot c;
for(a=-32000;2<32000;a++);

H

void main(}
{
int x=3,*y;
int &y; 41
&Ky=x; 2
v=&x; MK
*y=1; 4
H
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int box(int I=L,int w=2,int h=3)
{ return I¥*w*h; }

void maing)

{

cout<<box(};

cout<<boxi{10};
cout<<hox(10,10});
cout<<box{1{,10,10};

}

! A g gy A1 gy Shalig
ERROR 3

6603001000 o

HE0E006000

1101061000 F

T plaf g5 wiiges Comment s KRROR gljfe a5 olodas b s ¥y, 419, saoliy 52

int add{int x,int ¥){ recarn x+y;  }
float add(int x,flozt v} return x+y; }
float add(float x,int v){ return x+y; }
float add{float x,foat yH{ retera x+y; }
void main(}

{

cout<<gzdd(2,3}<<add(2,2.5);
cont<<add(2.5,2)<<add(2.5,2.5);
}

void main()

{

int a[2]131={{1,2},{41};
for(int i=0;i<2;i++)
for (int j=0;j<3;j++)
cont=<afl,jl=<'";

}

void main)

!

int y,*yptr;
yptr=&y:; M
cin>>*yptr; /2
cinz>&ptr; /M3
cin=>yptr; /14
cout>>ypir; /3
cout>>%yptr; /6
cout>>&yptr; /7
H
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struct Time { 3a
int hbh,mm,ss; ? Y
Time day; }; , (:
void main() 2l
{

Time 1,02 10],#t3,&t4;

H

¢lass Time{ Fill plaf o2 g b g ytugy (gl 2
public:

Time(); 0:0:0 o
void setTime(int,int,int): §0:20:20 ¢y
void printTime(); 9:10:40 v
H~Time{); /1 8:30:20 ¥
private:

inf hh,mm,ss;
H hh=mm=ss=0; /2
b
Time:: Time()fhh=8;mm=30;ss=24}
void Time::setTime{int h,int m,int s}
{h=9:m=10;5=40;}
void Time:: printTime(}
{ cout<<hbh=<<':"<<mme<<';'<<ss; )
void main()
{
- Time t;
t.setTime(10,29,20);
tprintTime();

1

et s 2 o1 900 2515 Comament i 511 ks S1Y Moo gaslp 2
il Slegf b gl s by eaniSogl (¥ s e oy Uas ()
war o vk Class Time (f apds e b aladle 28,8 clles (P
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for(inti=1;i<=n2;1+=2)

{ ; Year ‘?fan'f'
insert (Q , 20); 3 ik
} _ e :
intj=d+mn; : 10411 l R B
while (j > 1) ' ‘ o
=2 ° ™z e
Dalete (€));
}
n N ‘ by
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ink £ {iol p, int g, int n)
{
int m;
ir(p % q>=n)
relurn n;
m = n*{{p/2, q/2, n/1);
return (m * ql;

}
35 297675 v 99225 (v 330730

forum.konkur.in



v e

www.konkur.in

Y amiio (BOTEN )38t o — 31031 0431 o g A gidce ity — (oo = ol prinans} 1380 o 5 coobain] jugyo ar gaca

o5 A{FJul 3 mleails el foawl (BST) ogog gamines Comps o0 wdrn pj o S sleal,d 51 S plas

RCEPLES 1T | EPART PRRE LAV A R R K7

L g0 rvi\oail |fc vr}ma] |e.;u1 [Too ‘10‘["{ J | ‘
voor oy Y vy VE TA \'\ (
oo [ T e o] e [w] T in] ] E(T
A T f ] A ‘o W ro i 41
::o[$o|w\ogxo ‘I\oalnn{ ]mr|\=m| l\arl ‘rcr‘ ! .
\ Yooor ¥ Y T vs 4T
N kN 0 0 Y 2 A
VoYY F g YA 1o 13 Yo Yy £
Sl 4505 1A il bl 55 0 81yt g5 3l e M
2T[E]+3n2 a>l
Tin} = 2
Ty =1
3nlogh-2n+1 % 3logh-n? ¢r n-3logh+1 ¢ Inlogh-n+2 0

il it (BET} 24990 0 19 50 30 g Dot 5 Dieder 31y ela il 4 e
slanla 33)]9 35 Cnana] 3| peziis L:‘?.J"T has Al
‘_9'9;{*-345;55{&-:5)-3;“&‘{;55-?—:‘-’. {w
Sloppld pud ad Sl Concd S0 ghall 53 paie S g0 (g
Slo sl et 35 208y ] 33 Candd b gl ] Slade a8 208 ey S 43 )0 00
zg.__J.LﬁJ'l(f - 5 g (T o g oall (3
EYCSRT- PLSE g L EV-J0 IO P SOFRTIOUNN [ S UGy R Y S-IEN [ S SE gEPRE PR HENS PPTEY  RT ST
Sy 3 o dakad St LK plp cd 2
void what (rode * A[n])
{
for (i =0; & <n; is+}
{
node *p =A [i];
while (*p}
{
eout << p — data;
p=p — link;
}
}
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what (x, vy, k)
{
for (i=0; i <=k:i+4)
z[i] = O
for {i = 1; i <=strlen (x); i++)
zlx[ill++;
for {j=1; j <= K; j++)
z[jl = 2] + 2[j - 1];

for (i = strlen (x);i>=1;31- )

{ .
ylz[x[i]]} = x[i};
z[x[i]} = «[z[i]] - 1;
}
} .
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